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(1] (1) 22 + 62 +5=(x + 1)(z + 5) (2) 22 - 132+ 12 = (z — 1) (= — 12)
(3) 22 + 62+ 9 = (x + 3)2 (4) 22 — 10z + 25 = (z — 5)?
(5) 22 —49 = (x + T)(x — 7) (6) y* =12y — 28 = (y + 2)(y — 14)
(7) b> —18b+ 81 = (b — 9)? (8) 322+ Tz +2=(z +2)(3z + 1)

(9) a® —100b%> = (@ + 10b)(a — 10b) (10) > +y —56 = (y +8)(y — 7)

(11) a®> +3a—28 = (a + T7)(a — 4) (12) 222 =3z — 5= (z + 1)(2z — 5)
(2] (1) 2? + 8wy + Ty* = (z + y)(x + Ty)  (2) 2° =3y — 4y” = (z — 4y)(z + y)

(3) 2®+Tay+10y* = (z + 2y)(z + 5y) (4) 2®+ T2y —18y° = (z + 9y)(z — 2y)

(5) a? —6ab—16b*> = (a + 2b)(a — 8b) (6) 2% —9ax+20a? = (x — 4a)(x — 5a)

(7) 2% +22y—48y? = (z + 8y)(xz — 6y) (8) y? — 17Tyz + 6022
= (y —122)(y — 52)

(9) 32 +8xy +4y? (10) 222 — 3xy — 20y
= (z + 2y)(3z + 2y) = (z — 4y)(2z + 5y)
1 2y — Oy 1 -4y — 8y
3 >< 2y —— 2y 2 >< Sy —> Sy
3 492 8y 2 —20y? -3y
(11)  3a® — 14ab — 241> (12)  6p*+ 11pg — 10¢?
= (a — 6b)(3a + 4b) = (2p + 59)(3p — 2q)
1 —6b —> —18b 2 >< 5q —> 1b¢q
3 4 —  4b 3 —29 —— —4q
3 —24b? —14b 6 —10g? 11q
(13)  8a? — 22ac — 21¢? (14) 2022 + xy — 12y
= (2a — 7c¢)(4a + 3c¢) = (4 — 3y)(5x + 4y)
2 —Te —> 98¢ 4 S 3y —> —15y
4 3¢ —> 6c 5 dy ——> 16y

8 —21¢2 —22¢ 20 —12y° Y
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B8] (1) (z—y)?—5(z—y)+4 r—y=A&5]
=A% —5A+4
=(A-4)(A-1) [A%bEI2d EF]
=(z-y—4)(z—-y—1)

(2) 1227 — 27(y — 2)?
=3{42? — 9(y — 2)?}
=3{22+3(y — 2) {22 - 3(y — 2)}
=3(2x 4+ 3y — 32)(2z — 3y + 32)

(3) (x2—6:c)2+(w2—6:c)—56 (22 —6x=A L B<]
=A*+ A—-56
=(A-T)(A+8) [Ax b Lild 7]
=(2? — 62 — 7)(2* — 62 +8)
=(z-T)(z+1)(z—2)(z - 4)

(4) 20 +2y)2 +3(x+2y) -9 [rz+2y=ALtB<]
=24%+34-9
=(A+3)24-3) [AzdLildET]
—{(0 +2y) + 3H2( + 29) - 3)
=(zx 4+ 2y + 3)(2x + 4y — 3)

1 3 —> 6
T P

2 -9 3

(5) 3(x% —22)? — (22 —22) —4 [ -2 =A LBL]
=34 - A—4
=(A+1)3A—-4) [AzdLiZdd]
={(2* — 2x) + 1}{3(2* — 2) — 4}
=(2? — 22 + 1)(32% — 62 — 4)
=(x — 1)2(3z% — 62 — 4)

1 1 — 3
s N 4

3 —4 —1
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(4] (1)

22% — 622 — 56z (7) — 2%y + 22y + 35

=22 (x? — 3z — 28) = — (2%y? — 2xy — 35)
=2z(x — 7)(x +4) =—(xy — 7)(xy + 5)
4a® — 8a*b + 3ab? (9) — 623 + 522 + 62

=a(4a® — 8ab + 3b%) = — (62 — 5z — 6)

=a(2a — 3b)(2a — b) =—z(2x — 3)(3x + 2)

2 -3b —> —6b 2 —> -9

A PG T ey

4 352 —8b 6 -5

22 4+9+6x =22 462+ 9 (2) a® — 36 4+ 9a =a> + 9a — 36
=(x + 3)2 =(a +12)(a — 3)

2y — 35+ % =y® + 2y — 35 (4) 32— 20z + 32% =32% — 20z + 32
=(y +7)(y — 5) =(z —4)(3z — 8)

28a%b? — 49b* — 4a* = — (4a* — 2840 + 49b*)
=—(2a? — 7b?)?

a® —2ab+b* +2a —2b+ 1
=(a® — 2ab+ b?) + (2a — 2b) + 1
=(a—b)?+2a—-b)+1 [a—b=ALBL]
=A% +2A+1
=(A+1)? [Azdblizded]
=(a—b+1)2

2? — 2wy +y* 4+ 22 — 2y — 24
=(2® — 22y +y*) + (22 — 2y) — 24
=z -y +2r—y)—24 [r—y=A4tBL]
=A*+24-24
=(A+6)(A—4) [A%dLiIZbET]
=(z-y+6)(z-y—4)
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(8) 2 4 9% — 2wy — 2°
=(2® =2y +9°) — 2
=(z—y)P—2> ra—y=A4&5B<]
=A% 22
=(A+2)(A—2) [AzdLilbE7]
=(r—y+2)(z—-y—=2)

2

(9) 22 —4y* —6x+9
=(2? — 62 +9) — 4y?
=(x—-3)?%—-4y> [r-3=A%t5L]
=A% — (2y)®
=(A+2y)(A—-2y) [AZbLIZHET]
=(r —3+2y)(zr —3—2y)
=(x+ 2y — 3)(zx — 2y — 3)

(10) a®+2a—b*+1
=(a® +2a+1) - b?
=(a+1)*=b* [a+1=A&LBL]
=A% —p?
=(A+b)(A-b) [AzdLiZdLd]
=(a+1+b)(a+1-0b)
=(a+b+1)(a—b+1)

(11) 22 —y? =22+ 22
=% — (y* — 2yz + 2?)
=22 —(y—2)? ly—z2=A4%t8<]
—2 _ 42
=(z+A)(z—A4) [AzxdLiZdbETd]
e+ -2)He-(y—-2)}
=(z+y—-2)(z-y+2)
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(12) 2?2 + 4y* + day + 5z + 10y + 6
=(2? + 4y + 4y*) + (5z + 10y) + 6
=(x+2y)*+5(@x+2y)+6 [r+2y=A&EBL]
=A% +5A+6
=(A+2)(A+3) [AxbLicbrd]
=(z+2y+2)(z+2y+3)

(13) a® + b - —d* — 2ab — 2cd
=(a® — 2ab +b?) — (* + 2¢cd + d?)
=(a—b?*—(c+d? la—b=A c+d=DB&B<]
:A2—B2
=(A+B)(A-B) [A BzblilbEy]
={(a=0) + (c+d){(a—b) = (c+d)}
=(a—b+c+d)(a—b—c—d)

[5] (1) (x —3)% + 122 (2) (a—5)(a+1)—7
=z — 6z +9+ 12z =a® —4a 57T
=% + 62+ 9 =a® — 4a — 12
=(x + 3)? =(a —6)(a+2)

(3) 2(x +1)* = (z — 5)(x + 2) (4) (z +2)(z — 3) +2(3z + 5)

=2(z + 22+ 1) — (2* — 3z — 10) =2 —2—6+62+10
=z? + Tx 412 =22 +5x 44
=(z +3)(z +4) =(z +4)(z +1)

(5) (z—y)(zr—y—5)—6 [r—y=A4%,5L]
—A(A—5)—6
=A% —5A -6
=(A-6)(A+1) [AzxdbricbEd]
=(r—y—6)(z—y+1)
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(6) (> +3a—2)(a®>+3a+1)—4 [a*+3a=AEBL]
—(A—2)(A+1)—4
=A2 - A-2-4
=A>-A-6
=(A-3)(A+2) [AzdritbEd]
=(a® 4 3a — 3)(a® + 3a + 2)
=(a*+3a—3)(a+2)(a+1)

(7) dr—y)(r—-—y—-3)+9 —-y=A%tBL]
—4A(A—-3)49
=4A% —12A+9
=(24-3) [Axbrizb ]
={2(x —y) - 3}
=(2x — 2y — 3)2

(8) (z—1D(x+2)(x—3)(x+4)+24
={(z—1)(x+2)}H{(xz-3)(x+4)} +24
=(2?+z-2)(2® +2-12)+24 [2®+2=A4&LBL]
=(A-2)(A—-12)+24
=A? - 14A+24+ 24
=A? — 14A +48
=(A-6)(A-8) [AZbLiZbET]
=24z —-6)(z® +x—8)
=(x — 2)(x + 3)(2® +x — 8)

(9) (x=3)(z—1)(z+2)(x+4) — 144
={(z-3)(z+4HH(x-1)(z+2)} — 144
=@ +r—-12)(z* +z-2) - 144 [2®+2=ALBL]
=(A—-12)(A—2)—144
=A? — 14A+24 — 144
=A% — 144 — 120
=(A-20)(A+6) [AZbLiZbLT]
=(z® 4+ z — 20)(2® + = + 6)
=(xz 4+ 5)(x — 4)(2® + x + 6)
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(10) (x — 1)(x — 3)(z + 6)(z + 8) — 360
={(z —1)(z +6)}{(x - 3)(z+8)} — 360
=(2® + 52 —6) (2> + 5r —24) =360 [2® +b5rx=A £ BL]
=(A —6)(A —24) — 360
=A? — 304 + 144 — 360
=A% — 304 — 216
=(A+6)(A-36) [AzdLildET]
=(x? + 52 + 6) (2% + 5z — 36)
=(z + 2)(z + 3)(z + 9) (= — 4)

[6] (1) alx —y) — bz —y) [z—y=A,tBL]

=aA —bA
=A(a —b) [AZDLITh ]
=(z —y)(a—1b)
(2) 3a(a—b) — (a —b) la—b=A&tB<]
=3aA - A
=A(3a—1) [AxDHLIch &)

=(a—"b)(3a—1)
(3) 3ala+1)—ala+1) la+1=A&BL]
=3aA — aA
=A(3a —a)
=2aA [AZDEITH &F]
=2a(a + 1)
(4)  32%(a — 2b) — 6x(a — 2b) la—20=A&$<]
=32%A — 62A
=3zxA(z —2) [AZd LIl ]
=3z(a — 2b)(z — 2)
(5) a(3z —y) + 2b(y — 3x)
=a(3z —y) — 2b(3z — y) Br—y=AtB]
=aA — 2bA
=A(a — 2b) [AZH &2 ET]
=(a —2b)(3z — y)
6)  2*(y—2)+y*(z—y)
=2*(y — 2) —y*(y — 2)
= =)y - 2)
=@+ y)(z—-y)(y—2)
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(7] (1) ab+a+b+1 (2) ar + by — br —ay

=(a+1)b+ (a+1) =a(x —y) + (by — bx)
=(a+1)(b+1) =a(z —y) — bz —y)
=(a - b)(z —y)
(3) -z —x+1 (4) a’b? —a® - b 1
=(2® —2?) — (z — 1) =a?(b* — 1) — (* - 1)
=2z —1) - (z —1) =(a® - 1)(b* - 1)
—( - - 1) ~(a+1)(@a—1)(b+1)(b—1)

=(x—-1)(xz+1)(x—1)
(@ — 1)z +1)

(5) a? fry+2r+y+1 (6) 2* +ab— ar — bz
=y(x+ 1)+ (2® + 2z +1) =z(x —a) —b(x —a)
=y(@+ 1)+ (z+1)* =(z —a)(z —b)

=z+1)(y+z+1)
“@+D@+y+1)

(7) a® — ab — be + ac (8) 2ab* — 3ab — 2a + b — 2
=c(a — b) + (a* — ab) =a(26® —3b—2)+b—2
=c(a —b) + a(a —b) =a(b—2)(2b+ 1)+ (b—2)
=(a —b)(a +¢) =(b—2){a(2b+1) + 1}

=(b—-2)(2ab+a+1)

9) ab — ac — b + 2bc — ¢*
=(ab — ac) — (b* — 2bc + ¢?)
=alb—c)—(b—c)? [b—c=ALBL]
=aA — A?
=A(a—A4) [AZbLiZbET]
(- cHa—(b-0)
=(b—c)(a—b+c)
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[8] (1) 5x(2z — 1) — 3(2z — 1)?
=2z —-1)(bxz—6z+3) [(2z—1) T o7]
(20— 1)(~2+3)
=—2x% 4+ 7Tx — 3

@) 20z —2)2 — 3(z — 2)(z — 6)
=(zx—-2)2x—4-32x+18) [(z—2) T o7]
=(z —-2)(—x+ 14)
——z2 + 162 — 28

(3) 992 = (100 — 1)2 = 1002 — 2 x 100+ 1 £ 1, 10000 2*5 200 #5[\T 1 2 MA i
X, koT, 9801

(4) 10012 — 9992 = (1001 + 999)(1001 — 999) = 2000 x 2 = 4000

(5) 5122 — 4882 = (512 + 488)(512 — 488) = 1000 x 24 = 24000

(6) B0%+532 47> _ 507+ (53+47) x (53 — 47)

2x50x%x53 2 x 50 x 53
5024100 x 6
T 2x50x53
50412

T 2x53

31

53

(7) 12345678 = a L B &, HibhrzRd
123456782 — 12345677 x 12345679 = a® — (a— 1)(a+ 1) =a? —a®>+1 =1

(8) 9876 =a B &, HGrbn/zAid
9876 x 9876 — 9875 x 9877 + 9878 x 9879 — 9877 x 9880
=a>—(a—1)(a+1)+(a+2)(a+3)—(a+1)(a+4)
=a?— (a® — 1) + (a® + 5a + 6) — (a* + 5a + 4)
=a’?-a’>+1+a’+5a+6—a®>—5a—4=3

1-9



[9] (1) ry—x—y?+1 (2) zy+y? +a+2y+1

=z(y —1) = (y* — 1) =z(y + 1)+ (y* + 2y +1)
=z(y—1)—(y+1E-1) =x(y+1)+ (y+1)°
=(y—D(z—-—y—1) =(y+1)(z+y+1)
(3) 22 +y? — 2yz + 222 — 2ay (4) a’be 4 ab’c + ab® + b
=2z(z —y) + (2% — 22y + y?) =ab{c(a+b) + (a +b)}
=2z2(x —y) + (v —y)? =ab{(c+1)(a+b)}
—@—y) 2t —y) —ab(a+ b)(c + 1)

=(z —y)(z —y + 22)

(5) a’be + abd + be — ab® — ac® — cd
d(ab — ¢) + a*bc + be — ab® — ac?
d(ab — ¢) + (a*bc — ac?) + (bc — ab?)
=d(ab — ¢) + ac(ab — ¢) — b(ab — ¢)
=(ab — ¢)(d + ac — b)
=(ab—c)(ac—b+d)

(6) 6ab* + 4a’b — 6ab® — 4ab
=2ab(3ab + 2a — 3b — 2)
=2ab{3b(a — 1) + 2(a — 1)}
=2ab{(3b+2)(a — 1)}
=2ab(a — 1)(3b + 2)

(7) 2y -2yt oty —2
=22~y —2yz+ ) farty—2
=z’ —(y—2) +z+y—=z
={z+-2)H{e-(y-2)}+o+y—=
=(rz+y—2)z-—y+2)+(x+y—2)

=(z+y—2)(z—y+2z+1)

[10] 1 2O FIZOWTERL, LFREDTEDT 2479
(1) 22+ By+2)z+(y—1)2y+3)=(x+y—1)(z+ 2y + 3)

1 y—1 —— y—1
1 2y+3 —— 2y+3
1 (y—1)(2y +3) 3y + 2
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(2)  a®+3ab+4a+2b* +5b+3=a%+ (3b+4)a + (2b* + 5b + 3)
=a’+Bb+4)a+ (b+1)(20+3)=(a+b+1)(a+2b+ 3)

1 b+1 — b+1
1 >< 2b+3 —> 2b+3

1 (b+1)(2b+ 3) 3b+4

(3) 2?2 —2y%*—ay—3w+3y+2
=22 —(y+3)z— (2y®> -3y —2)
=2’ —(y+3)r—(y—2)(2y +1)
— @ty —2)(@ -2y — 1)
1 y—2 —— y—2
1 ><—(2y+1)—>—2y—1
1 —(y-2)(2y+1) -—y-3
(4) 222 +52y+3y —2—-3y—6
=222+ (5y — )z + (3y* — 3y — 6)
=222+ by — D +3(y+1)(y — 2)
=(x+y—2)2x+ 3y +3)
1 y—2 —— 2y—4
2 ><3(y+1)—> 3y+3

2 3y+1)(y—2) 5y —1

(11] (1) 2*+22+1=2*+222+1— 22
= (22 +1)? -2
=@ +l+n)2?+1-a)=(®+x+1)(z®> —x+1)

(2) @ 2*+422+16 = z* 4+ 822 + 16 — 42
= (x2—|—4)2—(2x)2
= (2% 4 2z + 4)(2? — 22 + 4)

@ 4zt — 13222 + yt = 42t — 422+t — 9272
2
= (22> —9?)" — (3ay)®
= (22” + 3zy — y?)(22® — 3zy — ¢?)

® z*+4=2x"+42° +4 — 427
= (2 +2)° — (22)°
= (x? — 22+ 2)(z®> + 2z + 2)



[1] (1) % — 2xy + y2 — 22
=(z —y)* -2
={l—y +2H{z—y) -2}
=(z—-y+2)(z—-—y—2)

(2) 2 —2zy+y*+ar—y—6
=(2? - 22y +y* )+ —y—6
=z -yl +(@x—y) -6 [x-—y=A4&c8BL]
=A"+A-6
=(A+3)(A-2) [AZDEIZH ]
=z —-y+3)(z—-y—2)

(3) a® —10ab + 25b% + 7a — 35b + 12
=(a—5b)*>+T7(a—5b)+12 [a—5b=A EtB<]
=A%+ TA+12

=(A+3)(A+4) [AzdbLizdry]
=(a —5b+ 3)(a — 5b +4)

(4) 2% —y® +6y—9
=2° — (y* — 6y +9)
=2 —(y—3)? [y—-3=A4&t5<]
—p2 _ A2
—(e+A)(w—A)  [ARbLITbET]
=(z+y—3)(z—y+3)

(5) 4a? —y? —2y—1
=4z® — (y* + 2y + 1)
=42’ —(y+1)*> [2e=A y+1=BEBL]
—A2_p2?
=(A+ B)(A - B) [A, B% b EIZRET]
—Qr+y+1)(2z—y—1)



(6) 9a% — 4b* + 4bc — ¢?
=(3a)? — (4b* — 4bc + *)
=(3a)? — (2b — ¢)? [B3a=A, 2b—c=B &£5<]
=A? - B?
=(A+ B)(A-B) [A, Bzb EIZRET]
={3a+ (2b — ) }{3a — (2b— ¢)}
=(3a +2b—¢)(3a — 2b+ ¢)

(2] (1) —122° +3y* = —3(42” — ¢*) = —3(2z + y)(2z — y)
<plfE>
5K =3(y? —42?) =3(y + 2z)(y — 22) = 3(2z + y)(—2x +y) TH L

(2) 22 —16 = (22 + 4) (22 — 4) = (2 + 4)(z + 2) (= — 2)

(3) (> —4a+2)(a®> —4a—11)— 14  [a® —da=A L B<]
=(A+2)(A—11)—14
=A% —-9A 2214
=A*—-9A4A-36
=(A+3)(A-12) [AZDHLITH T
=(a® — 4a + 3)(a® — 4a — 12)
=(a—1)(a —3)(a+ 2)(a — 6)

(@) 1— 2?4 y2 — 2%y
=(1—2%) +y*(1 - 2?)
=(1 -2 (1 +y?)
=(1+x)(1 —x)(1+y?)

(3] (1) 3zy —a — 6y + 2 (2) a’ —ab+4a—2b+4
=z(3y —1) =23y — 1) =—bla+2)+a*+4a+4
=3y — 1)(z — 2) = —bla+2)+ (a+2)?

=(a+2)(a —b+2)



x? — 2wy + 5x — 4y + 6
= —2zy —4y+ 2> +5x+6
=—2yz+2)+(x+2)(xz+3) [x+2=A4%,B<]
—2yA+ A(x +3)
(2y+x+3)A [AxdLiIlbEd]
=(x—2y+3)(z+2)

2a° — 6ab — 12 + 5a + 9b

=—6ab+9b+2a*> +5a— 12  [2a® +5a — 12 & 723 & D81 TH#]
=—-30(2a—3)+(a+4)(2a—3) [20—-3=A¢EBL]
=—3bA+ (a+4)A

=(-3b+a+4HA [AFDLIZHET]

=(a —3b+4)(2a — 3)

ab®> — (a+c)b+c
=ab® —ab —bc + ¢
=ab(b—1) —c(b—1)
=(ab—c¢)(b—1)

xt 4 36y% — 922 — 422y
=z — 922 — 42%y% + 3642
=2%(2® —9) —4y*(z? - 9) [2* —9=A L B<]
=z?A — 4% A
=(z® —4*)A [AZxbLicd ]
—(a? — 4y?)(a? — 9)
=(z 4 2y)(x — 2y)(x + 3)(z — 3)

22y + 2xy? — by — 3% + 2% —3x — 6y [x THEH]
=(y—3)a®+ (22 — by —3)x+2y2 — 6y  [2y> — by — 3 & /2§ X AT THIH]
=(y—3)2*+(y—3)2y+ Nz +2y(y—3) [y—-3=A%,B<]
=Az? + A2y + 1)z + 2yA
{22+ 2+ Dz +2y}A [AZbEIZHET]
={2? + 2y + Dz + 2y} (y — 3)
=(z +2y)(z+1)(y — 3)



[4] (1) 97 x 63+9x7x3 2) 2832 — 2172

=97 x 63 +63 x 3 =(283 + 217)(283 — 217)
=(97 4 3) x 63 =500 x 66
=100 x 63 =33000
=6300
(3) 1342 + 1352 — 1332 _ 134”4 (135 + 133)(135 — 133)
2 x 134 x 135 2 x 134 x 135
_ 1342 4+2x134x2
2 x 134 x 135
_ 134+4 138
2 x 135 2 x 135
_ 69
135
_ 23
45



(x + 3)(x — 3)
(z — y)(z — 3y)
(m+2)(m —5)

(y +4)(y —14)
(p+16)(p —3)
(a + 8b)(a — 4b)
(7Tx — 3y)2

(n 4+ 10)(n — 12)
(p+ 6q)(p — 12q)
(2z + Ty)?



9% ALl (1)

fERE

[1] 2 JKL £ 2 QPR I2BWT,
JK: QP =KL:PR=LJ:RQ(=2:3)
SHMOADILPEL b,
A JKLos & QPR (3 10EE1RE)

A GHI &2 ONM I2BWT,
GI:OM = HI: NM(=7:5)
/GIH = ZOMN
2HOBOILE ZDOMD AN ENENEL DD,
A GHIco &2 ONM (2 50tk 5k A1EL)
ADEF A TSU 125V,
/D =180° — (80° +40°) =60°% v, /D = /T
/F=/U
2HDOMIPENZNE L DS,
ADEFwm A TSU (2 f&at%)

(2] (1) 6:2=18:15 &1, (2) z:8=14:12 &1,
18 =6 x 15 120 =14 x 8
182 = 90 122 =112
r=2>5 28
r= "
3
(3)9:4=2:6 &V, (4) 2:9=15:y=10:75=4:3
dr=9x6 r:9=4:3 &1,
dx = 54 3 =9 x4
27 r =12
="
2 15:y=4:3 &0,
dy =15 x 3
_ 5
4



(5) 4:x=6:y=18:15=6:5 (6)6:2=8:(x+y)=4:3

4:x2=6:5 X0, 6:x=4:3 X0,
6r=4x5 dr =6 x3
_ 10 9
r=— r= —
3 2
6:y=6:5X0, y=5 8:(x+y):4;3c:x:%%{ﬁ}\
LT,
e _ .
8.(2+y)—4.3
9 _
4><(§+y)—8><3
18+ 4y =24
4y =06
_3
Y=7

[3] (1) AB: A/B'=AC: A'C' k1,

10:5=x:4
5r =40
r =8
FEkIZ, AB: A'B'=BC:B'C' &1,
10:5=12:y
10y = 60
y==6

(2) MULIEOXIET 2 MIEZNZTNELCDOT, = 63(°)
AB:A'B'=AC:A'C' &1,
4:y=6:8
6y = 32
16
'3
(3) AB: A'B'=BC:B'C' &9,
r:12=4:9
9xr = 48
16
3
MPRHEOMNST 2 AEFZNEFNELVWOT, /B =/B=60°, L0 =£C= 55°
£ oT, y=180— (60 + 55) = 65(°)

2-2



[4] 2 ABDoo & CBAco & CAD

(5] (1) AB //ED &V, 2HOaBZNENE LD,
A ABCoo A DEC

L oT, METHLHADOILITE L DS,
AB:DE = AC: DC

15:5=9:2
152 = 45
r=3

(2) 2 MDD ZNZNE L s,
A AEDoo A ACB

LoT, METABOLIFFEL VDS,
ED:CB=AE: AC
x:5=(7-3):6=2:3
3z =10
10

r=—

3
(3) 2 MOMABENZNE L,
AN DBAoo> AN EBF

EoT, WETHADIITEFEL VRS,
AB:FB=AD:FE

(x+4):5=6:3=2:1
r+4=10
=06
2HOMBENTNEL VRS,
2N ABCoo A EBF

EoT, WETHADIITEFEL VRS,
BC:BF =AB: EB

(y+5):5=(x+4):4
(y+5):5=(6+4):4=5:2

2 +10 = 25
2% =15

_ 15
¥y=7

2HOMBENTNEL VRS,
A DBAoo & ABC

L oT, HETLHADIIZEL VWAL,
DA: AC=AB:CB

6:2=(r+4):(y+5H)

6:z=(6—|—4):(%—|—5)=4:5

2-3



kXD,
15 _ 15

33=6a’y=7a 2=

(4) ZA $558, ZADB = ZAEC = 90° £ 0, 2 MlOfAZhZhE Lvns,

A ABDoo & ACE

L oT, WHETLHADIIZEL VAL,
AB: AC=AD: AE

(x+3):(44+5)=4:3
(x+3):9=4:3

3(x+3)=36
r+3=12
r=9

[6] (1) 2 ABC £ A DBA 25T,
AB:DB=9:3=3:1
BC:BA=27:9=3:1

/B 134k
2HMOBOWNEL L ZOMOANEL W

»o,
A ABCeoo A DBA

£ oT, A ABC LB,
A DBA

(2) (1) £b., A ABCco ADBA 7705,
KIETHADOIITEL W L XD,

AC:DA=3:1
AC:8=3:1
AC = 24(cm)

[7] (1) 2AFDB XA EFC I23W\ T,

/CFD = /B + /FDB = 60° + /FDB

—7. ZCFD = 60° + Z/ZEFC

L7#-<, /FDB = /EFC ... ©

@O, @ &0, 2MOaBERENEL VD,
AFDBoo A EFC  (GEBI#)

2-4

9cm

27cm

7 8em

9cm

(45 & PR £ DRI A7 ]



(2) IE=AEO—LORE ST,
AB = AD 4+ DB = DF + DB = 15(cm)
AE=zcm £ &, FE=zcm, FC=BC—BF =15 -3 =12(cm)

(1) &9,
BD : CF =DF : FE
8:12=7:x
xz=10.5

. AE =10.5(cm)

[8] A ABDco A ADE L9

/ABD = ZADE -----. ®
/DAB = ZEAD -----. ®

S DEELL D
ZABD + ZDAB = ZADC

= /ADE + ZEDC
® kv, /DAB=/EDC
@% Y, /DAB=/DAC % DT

/ZDAC = ZEDC B
Ihk ZC @2z n 5,

QHDOMPENEFNEL VDT
A ADCcoo ADEC  (FFEA#Z)

2-5



[9] A ABE £ A ACD I2BWTC, A

(10]

e Ly,
ZABE=/ACD
/BAE=/CAD

2HMOMPBENTNEL VRS, E
AN ABEoo & ACD

T HADIITEEL W5,
AB: AC=AE: AD
s.- AB _ AE
@I AE = AD @
A AED 2 ABC 2BV,

RE LD,
/BAE=/CAD
ZEAC (338
W22, /ZEAD=/BAC ------ ®@
O EERLT,
AD _ AE ®

AC ~ AB
@, @ LY, 2/MOVPDOIENEL L FOROADEL W25,
AN AEDos A ABC (BFEA#R)

AN ABCoo A ADB &)
/BCA =/DBA =z &£ 8B<

—7J, AD=AE %
/ADE = /AED =y ¥ B¢

AN ABE £EABCD 1I28WT
ZABE = /BCD ==z
B F C

/BEA = Z/CDB = 180 —y

LoT, 200N EFNENEL VDT
AN ABEco ABCD  (GFBH#2)
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[11] (1) 2 ABC XA HBA 1280\,

e,
ZBAC = ZBHA = 90°
ZABC = ZHBA (3t;8)

2HDOANRENZTNEL VD,

A ABCco AHBA ------ ©)
A ABC EAHAC I2BWT,
kR LT,

A ABCoo AHAC ------ ©)
© @40,

AN ABCoo A HBAoo A HAC  (GEHIK)

2) ® X, AABCoor AHBA 45,

RIS HADIIFE L W & XD,
AB:HB =BC: BA

AB? =BH x BC  GFBH#)

H

A,

(3) @ X, A ABCoor A HAC 727
5, MIETHBAORIFE LV & &

N, A
AC:HC =BC: AC H
AC?=CHxCB  GFH##) //\\\n
B C A C

(4) (1) DL Y, 2 HBAo A HAC
s, WIS 200k LS

L&y, H
AH: CH=HB: HA
AH? = HB x HC  (GFH#&
B A A C
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[12] 552 CA=CE XV,

/AEC = /EAC --.... ©)
FE#EIZCA=CD £ 0,
/CAD = Z/CDA ------ ©)

—7Ji, ZAEC + ZEAC + ZCAD + /CDA = 180°
0T, @O @ &0,
2(/EAC + ZCAD) = 180°
. ZBEAC + ZCAD = /DAE = 90° --- -

T /BAD = /BAC — /DAC
—90°— /DAC [ i)
— /DAE — /DAC [+ ®]
— JCAE
=/AEC ... @ [®]

ABAD, A BEA 2B\,

JBAD = /BEA [ @]
{413 43t

DXy 2o ehenELVoT,
A BADoo & BEA

AL Z Z I ORNIGT B DO HIEE L VWO T,
AB:BD =BE:AB

~AB2=BD xBE  (GFHi#)
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[13] (1) &2 ABE £ A ECF 2BV,
/ABE=/ECF=90° -----. @
ZAEF=90° 7275,
ZAEB + /FEC =90° ------ ®
—7, AABE 2B\,
/AEB+ ZEAB =90° ------ ®
@, ® &0,
/EAB=/FEC ------ @
@©, @ LY, 2HOAPBENENELVHD,
AABEwo AECF  (GEBH#)

(2) A APD A EPB 2BV,
AD //BC &V,
/DAP=/BEP
KTEIEEE L Vs,
/APD=/EPB
2HOMAENEHEE L Vs,
A APDoo A EPB
BT HADITE L s,

PD _ AD .

PB ~ EB ©
¥7-, A AEF=2A ADF L0,

AD=AE ------ ®
®, @&y,

PD _ AE .

PB  EB ®

(1) DR LD,
ANABEos AECEF 72005,

RIS HADOIITE L VW T,
EF _ AE

S =5E @
¥7:, AAEF= A ADF LV,
EF=DF -.-... ®
®, ®&y,
DF _ AE |
CF  BE ©
®, © &0,
PD _ FD e
PB — FC (GERA#)
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[1] (1) ZA 458, ZACB=/CDA=90° £ (2) ZBAC=/BCA 7»> /ACD=/ADC

A ABCon A ACD B LU /BCA=/ACD (3tii)
 AB:AC = AC: AD LY. ABACo A ADC
5:4=4:zx BA: AC=AD:DC
w=1—6 12:4=4:DC
5
AB:BC = AC:CD pC =455 - 2
5:3=4:y S r=BC-DC=12-4
_ 12 ’
v="5 .'.az:ﬁ
3
(3) ZABC=/AED, /ALY (4) ZBAE=/BCD, /B 3tii &b
A ABCoo A AED A ABEo A CBD
. AB:BC=AE:ED AB:BE =CB:BD
8:7T=4:x (r+8):6=16:8
az:% r+8=12
AB:AC=AE:AD /DAF 41;:(; 44AFD /CFE £V
8:5=4:AD ADAFon A ECF
AD:% AD:DF = CE : EF
4:y=10:4
y—AB-AD=8- 2 Y
2 y_4><4
_u T
y=- s
Y¥=73



[2] (1) 2 ADC ¥ AECF I2BW\ T, A

A ABC= A EDC
/DAC = ZCEF ---O©

¥/, AABC "N =AFETH D

K
LEh), AEDC b EN=METH DL
5
/ABC = /EDC = /ZECD =a
L3k, ACBD ICBWT, ZADC F B C
BY4S: P

/ADC = ZDBC + £ZDCB
=a+/DCB ---©

=T, /ECF = /ECD+ /DCB =a+ /DCB - ®

@, ® &9, ZADC = ZECF ---@

©, @ XY, 2MDENZRE LSS, AADCo AECF  GEBI)
(2) AABC TAB=AC &V A

/ABC=/ACB=a ---(7)
A CDB T A ABC= A EDC kb,
BC = DC 9D
k5T, ACDBIXZEN=/EE 25
/CBD=/CDB=a ---(1)
N “NEE H
(7),)(4);@, 2 NS E TN ; ! o
W2 LHm5,

ACDBoo AABC. 2k
DB:BC=CD:AB
DB:6=6:9
BD:3—96:4(cm)

(3) EC=AC=9 (cm)
(2) &Y, AD=AB-BD =5 (cm)
(1) T, A ADCco AECF &1

AC:EF =AD:EC

9:EF =5:9

EF:8—51 (cm)
ED=EC=9 (cm) 7255

FD:DE = (EF — ED) : DE

:(%_9):9= 36.9_4:5



(z +y)(z— 2)
Ba+b—1)8a—b—1)
(a+2)(a—2)(a+3)(a—3)
(a —2¢)(a—b+ 2c)

(22 — 22 — 5)(z% — 2z — 6)



10& #El (2)

EiFE]
[1] (1) DE // BC 72225 (2) DE // BC 7205,
AE _ DE AD _ ED
AC — BC AC — BC
r _ 8 _1 12—z _3_1
x+20 24 3 x 9 3
3x=x+20 312—x) ==
2x =20 36 —3xr=x
=10 —4x = —36
r=9

3)a /b cths,

AB _ DE
BC = EF
6 _8_2
r—6 4 1
6 =2(z—0) b
6 =22 — 12 , ,
2z = —18 c ; "
r=9 F d\
<pllEg>
a/lb/ cnrb,
AB _ DE a
AC DF
6_8 _2
T 12 3
18 =2z
r=9 b

3-1



[2] (1) BC // DE 75905,

AE _ AD
EC DB

AE _ 8 _2
3 4 1
AE =6 (cm)

(2) BE // FC Z» 5, (1) &£, A
AB _ AE
BF  EC
12 _ 6 _ 2
BF 3 1
BF =6 (cm)

[3] AB//CD &V,
AE:DE=AB:DC=6:9=2:3

L7235 C, A
DE:DA=3:(3+2)=3:5 B
ZZT,
AB J/EF &0,
EF :AB=DE:DA=3:5
B F D

£oT,
18

3-2



[4] (1) APAQw APCB &9, AQ:CB=AP:CP=2:3

Z 2T, A ABCD I FTHEE LY, AD =BC 72056,
AQ:QD=AQ:(AD-AQ)=2:(3-2)=2:1

(2) ARQDco ARBC 72205, (1) &1,
RD:RC=QD:BC=QD:AD=1:3
£oT, RD:DC=RD:(RC-RD)=1:(3-1)=1:2
[ARQDoo ABQA #HWTH L]

(3) (1) ¥, BP:PQ=BC:AQ=3:2
(2) £, BQ:QR=CD:DR=2:1

Lo,
BP:PQ:QR = :2:%
=6:4:5
[5] BQ L, BCIZFATTA 2BAHEME D A
TExDET 5.

AN ARDcoo APRB &0
AD:PB=AR:PR=3:4
Lo,
AD:BC=3:(444)=3:8
ZZT, AADQwo ACBQ DT
AQ:CQ=AD:CB=3:8
<nllEg>
Pl BQITHLEMEDE AL CO A

XD &ETHE, BQJPD &0,
QD:DC=BP:PC=1:1

AQ:QD=AR:RP=3:4 Q
ThoHN"b,
QD:DC = 1: 1 R
AQ: QD =3: 4
AQ: QD:DC =3: 4: 4
£oT,
B p C

AQ: QC=AQ: (QD +DC)
=3:(4+4)=3:8
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[6] AC J/ EF 7245,

BE BF
BE_BE .. ®
AD J/ EG 72505,
BE BG
BE_BG ... ®
®, @&D,
BF _ BG
FC — GD
LT,

FG // CD  (GEHI#)
[7]1 (1) AE:EC=2:3 &V,
AE:AC=2:(243)=2:57»5,
AE:18=2:5
5AE = 36

AE:3_56 ...... ®

PE /) BA 7575,
PE _ CE _3
BA  CA 5
PE 3

24 5

V%, T ADPE 125 C, DA // PE, PD /) EA 7575, MfiJ% ADPE 13
L BUNiA
£oT, koA NUMAK ADPE oFoESE, @O, @4&1,
_ 36 72
2AE + PE) =2 x (4 4 12)
_ o, 108
=2x 5

= —2;6 (cm)
(2) PE /) BA 72h 5,
cpP _ CE
CB CA
cP 3
20 5
CP =12
(1) &0, AR ADPE (& PATINBRZ 5,
AE = DP

WzlZ, DP:EC=AE:EC=2:3
PD /) CA 7575,

QP _ DP
QC ~ EC
_2
3

Wz, QP: QC=2:37Zh5,
QP:PC=2:(3-2)=2:1

3-4



PC=12 (cm) &V,

QP:12=2:1
QP =24

Lo,

BQ=QC—-BC
= (QP+PC) — BC
=(24+412)—20
=16 (cm)

[8] (1) M iE BC Ohfizsss,
BM:MC:%BCle

PQ /) MA 745,
PQ _BP 8 4
MA  BM 10 5
roT, PQ:AM=4:5

(2) BM = 10 (cm), BP =8 (cm) 7545,
PM = BM — BP
—10-8=2
PR /) MA 7345,
MA _ CM _ 10 5

PR  CP 10+2 6
12 _ 5
PR 6
PR =2
(1) £, PQ:MA=4:57»5,
PQ:12=4:5
5PQ = 48
_ 48
PQ = -

WilZ, RQ=PR-pPQ=-2 48 _ 24

5 5 5
£ o7,

PQ:QrR=": 2L =21
PQ:QR=2:1

(3) PR // MA 72205,
CR:RA=CP:PM=12:2=6:1

I7%bHbE, CR:RA=6:1

3-5




(4) BP=2z (cm) £ 5.
QP J/ AM 7255,
PQ _BP _ =z

MA  BM 10

PQ _ x
2 =10
PQ:%%
T 7,
PR _ PC _ 20-u
MA — MC 10
PR _ 20-u
2 10
PR:%@O—x)
ZZC PQ+PR= g$+%(20—x):24 ------ @ .

PAMIAIEBICHL L X,
PQ+PR=2AM=24 ---®

®, @&y, HP2HSBM Lo ZiZh->ThH,
PQ+ PR =24(cm)  (—%&) (GEBA#%)

[9] (1) ® 2 ABC, A APQ I2BWT, PQ//BC XV, #H5% LvoT
/ABC = ZAPQ
/BCA = /PQA

2ODMPENFNE L VDT,
A ABC oo A APQ

MU KEOMIET 52 BOREEOHITFELVWOT,
AP:AB=AQ:AC=PQ:BC Gl

@ AP:AB=AQ:AC &V,

AP _ AQ
AB AC
WADW % & -,
AB _ AC
AP AQ
MmAl21 2z 5&,
AB ,_ AC
AD +1= AQ+1
AB+ AP  AC+AQ
AP o AQ
B _ CQ
AP AQ
AP _ AQ
PB  CQ
LT,

AP :PB = AQ: QC GFHI#)
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(2) @ & APQ, & ABC 125WC,
L) AP : AB = AQ : AC
KT LT, LPAQ = /BAC

PEX Y, 2oE Z0MOMNERZNELVOT,
A APQ oo A ABC

M MEORIGT 5 HOKRE SXELWVWOT, LAPQ = ZABC
INHOEANELLALOT, PQ/BC  GEF#H)
@ AP:PB=AQ:QC &V,

AP _ AQ
PB QC
MAO Wit % & - T,
P _ Q¢
AP AQ
AP + AB _ AQ+ AC
AP AQ
AB AC
1+ AP 1+ m
AB _ AC
AP AQ

T%bb, AB: AP =AC: AQ (AP: AB=AQ:AC)
£oT, @ THHLAZZ xS, PQJ/BC  GEBRK)

[10] Mgk, /ZBAD=/CAD ---
¥/, AD// QR &V
Z/ARQ = /BAD($f4) --- @
ZAQR = ZCAD(Ffzfg) ---@
CCTC MY AB ISP EM A 5] X,
RP OMEE L DA% E L35 AR//EC
In,
/ARQ = ZCEP ---®
O~® &Yy
/CQE = ZQEC
. CQ=CE ---®
&512, BRJ/EC &1,
BP: PC=BR:CE

=BR:CQ [G®XD] (REWI#E)
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[1] CD /EF X9, AE:EC=AF:FD=2:1
DE // BC &1
AD:DB = AE: EC
(442):DB=2:1
BD =4 x6=3

[2] (1) oD EH1Z, Q, REEST
DQ:BC=DN:NC=1:1
AP :PM = AQ:BM

:2BC:%BC
=4:1

(2) AB:CR=BM:MC=1:1
BP: PN = AB: NR

:AB:%AB
=2:3
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B8] (1) oD LHIZ, CH2H5BDICFAL
PEMORTH ET 5.
ANABP & ACBH IZBWT
/ABP = /CBH,
/APB = ZCHB (= 90°)
L72Ho> T, 2HMOANEFNEFNE L VDT, .
A ABP o & CBH B E G
AP:CH=AB:BC=4:6=2:3
2512, ADAP & ADCH I2BWT,
/ADP = Z/CDH, /DPA = /DHC (=90°)
L7285 T, 2/OARZFNENEL VDT, ADAPoo A DCH
AD:DC=AP:CH=2:3 (FERH#)

(2) HOMT, EF J/BD &3 5.
ABAP ¥ ABEP 2B

BP 3,

/ABP = /EBP,

/APB = Z/ZEPB
LT,

1B EZDOMIEDMMNFENEFNE L VDT,
A BAP = A BEP

WwzIZ, AP=PE -.-@

BA=BE=4 X
EC=6-4=2 ---(

@®XV). PD:EF = AP: AE=1:2
PD:%EF
@th, BD:EF=BC:EC=3:1 .. BD=3EF. £o<
1

BP:PD:(BD—PD):PD:(3—%)EF:§EF:5:1
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[1] 2 ABC o AWXV (2 fAXZRZNELW)
AJKL oo A QRP (3 OWA4% L)
AGHI o0 AUTS (20N, ZOMOfA L% L)



I —
2MJSS/2MJS/ 2\

oh 2 #RERAK - EFEHEF
th 2 8%
oh 2 RAHZF




